[ Efficiency vs vertpos |

0.5

tr

SRPE U - S— —

efficiency vs

o
w

0.25]
0.2
0.15

0.05

I
~
|

TS SRS F— S S—

.................................................

Ratio

||’_‘||||

>
us

2

s
b
+

0.95L : :
1072 107 1

Efficiend

2

OO0
10000
[
3333
PYarayava
TITTITT
pazszzs |
mmmm4
T

~ 0.5
$0.45
0

> 0.4
>

<
£0.35
0.3

0.25
0.2

0.15

effic

I SRR S 1 S R T S
(Y0 SRS SR ++ ------ S
P S I A P I I AP T
o +%F y : y :
L S T 11| R
- 15 *"n
0.95F -+ ----=--t - HIet TR -

%50 =20

10 20 30
TP vert z (cm)

[ Effici

ency vs. sim PV z |

N 0.5
>

8.0.45
0.4
£0.35

Sim

o
[

efficiency

0.25

o
()

..................................................

..................................................

..........................................

50 > 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


